EARAROBEEIERT — 2 N— IBISH —F

2014558250 (B) 2EEER5H

miﬁiﬁijb) SRR —ZXC1 =4 S R—E (w8 | imEmml - |5 @) o s
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— N HER :27. - . - A ARE— (KiR)
1557 =" yia 4t 10 0 1(2_7)6 1-1 39.0 1 (ig) ELT 7
R:rvn7x BiAACE4 ML J—H T — L
S —: S EATE :27. — . — 12 ARBEl (KR
2lglig| 7>RET 1 F > foo | e 1(72{:? 32 38.8 2 ‘23)3 L
R:gAFTUHF—F B:RUIRyT17> KTHUS
TR B4 | WAEEE 1:28.6 4-4 392 — 3 415 | #EEZ (KiR)
sl 6| 17— LTIV T 54.0 ® Lo | (B) 75> ka8
LiZw— kK- F:E>DIU-— 75> Fiis
N — LA : - — 2IE— KR
4 o | TP LHE=S i 5 o 1(.32/%7 1-3 40.0 5 g) i i
VLK YIYRIR BIULILTLT EH IS
S 4t 8 | FHIERER 1:29.6 4-6 39.9 — 7 456 | HEE GKR)
5|7|8 JXED 4T 56.0 (6) +1) BT
L/ RS vy 7 BTy TS PImE A
RS s 4 | WOB— 1:29.6 6-5 39.6| — 6 504 |#1EEZE (KR)
Eﬂ 4| 7V kx> 2a 54.0 (NF) (7) | ARERT
R:vPRYIYZRIZX BNLTFsw v BRT7—L
N N =i E : — - HEEFE (KR)
71717 T2 T4T—% o 54.0 1('12/92')7 7 %6 10 f;) %iiﬂizﬂ ’
R:TA—FAFAF =X BRA—bIa—I [l
. ® mAlxRE : - — iR ()
sla|o|*54>71 KL T e | es [ws) - 4| |Eae
R:xLIAMO— BFEHLI-—Tvo =l 2
D 4 6 | THHF 1:31.6 10-10 40.2| — 8 430 | FEF (KR)
9111 | A9 56.0 ©) 6 | () J PNEF
LiF 4 N—h b — B:ISINST a1L4is
\ s B o4 | AtFIE 1:33.0 6-9 428 — 9 454 | ARG (KGR)
10§ 3|7V -—T 1Y 6.0 © Gy | ) A—2aT
Lo—AJOo— B:ILN-U—> #Xet IV TF—L4
® 1—F—@EBIERL
13—7-—
2a=5"=
== (2,5),10,(6,8),(3,4,7),9,1
40—+ — 5,10,2,6,4,8,7,9,3,1
[ N5
B 5 1909 714K 5-10 200M e E 5-8 340 JEE 5-6-10 450M
B B 5 110H 5-6 190H B = 5-10 450 EE 5-10-6 1,790H
10 1004 6-10 210M B H 5-10 810M
6 1309

ABICOVWTRDTEEERROODE. TR LIV,




